

Article



A version of the Hermite-Hadamard inequality for Quasi F - (h, g, m)-convex functions

Ghulam Farid^{1,*} and Josip Pečarić²

- ¹ Department of Mathematics, COMSATS University Islamabad, Attock Campus, Pakistan
- ² Croatian Academy of Sciences and Arts, Zagreb, Croatia
- * Correspondence: faridphdsms@outlook.com

Communicated By: Waqas Nazeer Received: 22 November 2023; Accepted: 11 May 2024; Published: 30 June 2024.

Abstract: This paper aims to present Hermite-Hadamard type inequalities for a new class of functions, which will be denoted by $Q_m^{h,g}(F;I)$ an and called class of quasi F - (h, g; m)-convex functions defined on interval I. Many well known classes of functions can be recaptured from this new quasi convexity in particular cases. Also, several publish results are obtained along with new kinds of inequalities.

Keywords: Convex function; (*h*, *g*; *m*)-convex function; Hermite-Hadamard inequality

MSC: 26A51, 26D15.

1. Introduction and Preliminaries

A function f defined on [a, b] and satisfying the inequality (1), is called convex function and it leads to several new definitions and notions due to this analytical presentation. A convex function is also defined in many other ways, but inequality (1) and the Hermite-Hadamard inequality (2) are the most acknowledged and celebrated definitions. Since the definition of convex function is introduced, it got special attention in mathematical analysis, because of many interesting properties and characterizations, see [1–3].

$$f(tx + (1-t)y) \le tf(x) + (1-t)f(y); t \in [0,1], x, y \in [a,b].$$
(1)

The following inequality (2) is due to Hermite [4] and Hadamard [5], holds for convex functions.

$$f\left(\frac{a+b}{2}\right) \le \frac{1}{b-a} \int_{a}^{b} f(x)dx \le \frac{f(a)+f(b)}{2}.$$
(2)

The above inequality gives the upper and lower estimations of integral mean of a convex function. Inequality (1) preserves in different settings of new and existing parameter t, for example by involving m, $m \in [0, 1]$ under argument of f in left hand side m-convex function is defined by the following inequality, see [6]:

$$f(tx + m(1-t)y) \le tf(x) + m(1-t)f(y); t \in [0,1], x, y \in [0,b].$$
(3)

By replacing *t* and 1 - t with one on the right hand side of (1) *P*-convex function is defined as follows:

$$f(tx + (1 - t)y) \le f(x) + f(y); t \in [0, 1], x, y \in [a, b].$$
(4)

By replacing *t* and 1 - t with t^s and $(1 - t)^s$, $s \in (0, 1]$ on the right hand side of (1) *s*-convex function is defined as follows:

$$f(tx + (1-t)y) \le t^s f(x) + (1-t)^s f(y); t \in [0,1], x, y \in [0,\infty).$$
(5)

By replacing *t* and 1 - t with h(t) and h(1 - t) respectively on the right hand side of (1) *h*-convex function is defined as follows:

$$f(tx + (1-t)y) \le h(t)f(x) + h(1-t)f(y); t \in [0,1], x, y \in [a,b].$$
(6)

Likewise, (s, m)-, (α, m) -, (h - m)-, (p, h)-, $(\alpha, h - m)$ -convex functions and many other such names have been introduced in the literature by modifying (1) in different ways. All such types of functions are defined for generalizing the Hermit-Hadamard inequality (2). In [7], (h, g; m)-convex function was defined and general Hermite-Hadamard type inequality was presented. By replacing y with $my, m \in [0, 1]$ in argument of f on the left hand side and replacing t and 1 - t with h(t)g(x) and h(1 - t)g(y) respectively on the right hand side of (1), the following inequality is obtained

$$f(tx + m(1 - t)y) \le h(t)f(x)g(x) + mh(1 - t)f(y)f(y).$$
(7)

A function *f* satisfying (7) is called (h, g; m)-convex function, see [7]. Next, we state version of the Hermite-Hadamard inequality for (h, g; m)-convex functions.

Theorem 1. Let $f : [a,b] \subset I \to \mathbb{R}$ be (h,g,m)-convex function. Then the following inequality holds:

$$f\left(\frac{a+b}{2}\right) \leq \frac{h\left(\frac{1}{2}\right)}{b-a} \int_{a}^{b} \left(f \cdot g(z) + mf \cdot g\left(\frac{z}{m}\right)\right) dz$$

$$\leq \frac{h\left(\frac{1}{2}\right)}{b-a} \left\{f \cdot g(a) \int_{a}^{b} h\left(\frac{b-z}{b-a}\right) g(z) dz + mf \cdot g\left(\frac{b}{m}\right) \int_{a}^{b} h\left(\frac{z-a}{b-a}\right) g(z) dz + mf \cdot g\left(\frac{a}{m}\right) \int_{a}^{b} h\left(\frac{b-z}{b-a}\right) g\left(\frac{z}{m}\right) dz + m^{2} f \cdot g\left(\frac{b}{m^{2}}\right) \int_{a}^{b} h\left(\frac{z-a}{b-a}\right) g\left(\frac{z}{m}\right) dz \right\}.$$
(8)

The above inequality actually generates almost all versions of the Hermite-Hadamard inequality for convex and non-convex functions linked with (1).

The goal of this paper is to establish a version of the Hermite-Hadamard inequality involving quasi arithmetic mean in the place of geometric mean. We define a new class of functions which will be called quasi F - (h, g; m)-convex functions. Riemann integrals of such kinds of functions are estimated.

2. Auxiliary Definitions

We give the definition of quasi F - (h, g; m)-convex function and its consequences. First, we define quasi arithmetic mean. For a continuous and strictly monotone function $F : I \to \mathbb{R}$, where *I* is an interval in \mathbb{R} , the quasi arithmetic mean denoted with $Q(\mathbf{p}, \mathbf{x})$ is defined by;

$$Q(\mathbf{p},\mathbf{x}) := F^{-1}\left(\sum_{1}^{n} p_i F(x_i)\right),$$

where $\mathbf{x} = (x_1, ..., x_n)$, $\mathbf{p} = (p_1, ..., p_n)$ and $x_i, p_i \ge 0$; $\sum_{i=1}^{n} p_i = 1$.

Definition 1. Let *h* be a non-negative function on $J \subset \mathbb{R}$, $(0,1) \subset J$, $h \neq 0$ and let *g* be a positive function on $I \subset \mathbb{R}$. Furthermore, let $m \in (0,1]$. A function $f : I \to R$ is said to be quasi F - (h, g; m)-convex function if it is non-negative and if

$$f(F^{-1}(\lambda F(x) + (1-\lambda)F(my)) \le h(\lambda)f(x)g(x) + mh(1-\lambda)f(y)g(y)$$
(9)

provided $F : I \to \mathbb{R}$ is strictly monotone, where $\lambda \in [0, 1]$, $x, y \in I$.

Remark 1. It is noted that for F(x) = x, the inequality (9) reduces to the inequality (7). All classes of functions associated with convex functions such as exponentially convex, exponentially *s*-convex, exponentially (s, m)-convex, exponentially (h - m)-convex, *s*-convex, (s, m)-convex and (h - m)-convex can be recovered from the above definition.

By setting $F(x) = x^p$ in (9), we can give the following definition of (h, g; m) - p-convex function.

Definition 2. Let *h* be a non-negative function on $J \subset \mathbb{R}$, $(0,1) \subset J$, $h \neq 0$ and let *g* be a positive function on $I \subset \mathbb{R}$. Furthermore, let $m \in (0,1]$. A function $f : I \to \mathbb{R}$ is said to be (h,g;m) - p-convex if it is non-negative and satisfy the following inequality

$$f\left(\left(\lambda x^{p}+(1-\lambda)(my)^{p}\right)^{\frac{1}{p}}\right) \leq h(\lambda)f(x)g(x)+mh(1-\lambda)f(y)g(y),\tag{10}$$

where $p \in \mathbb{R} - \{0\}, \lambda \in [0, 1], x, y \in I$.

It is noted that almost all kinds of *p*-convexities and exponentially *p*-convexities can be recovered by setting suitable values of function g(x) and parameter *m*. For instance the definition of exponentially h - p-convex is obtained by setting $g(x) = \exp(-\alpha x)$, m = 1 as follows:

$$f\left((\lambda x^p + (1-\lambda)y^p)^{\frac{1}{p}}\right) \le \frac{h(\lambda)f(x)}{e^{\alpha x}} + \frac{h(1-\lambda)f(y)}{e^{\alpha y}}.$$
(11)

Further, definitions of exponentially (p, P)-convex, Godunova–Levin type exponentially harmonic convex, exponentially harmonic *s*-convex and exponentially HA-convex functions given in [8] can be obtained. By setting $F(x) = \log x$ in (9), we can give the following definition of geometric (h, g; m)-convex function.

Definition 3. Let *h* be a non-negative function on $J \subset \mathbb{R}$, $(0,1) \subset J$, $h \neq 0$ and let *g* be a positive function on $I \subset \mathbb{R}$. Furthermore, let $m \in (0,1]$. A function $f : I \to \mathbb{R}$ is said to be geometric (h, g; m)-convex if it is non-negative and holds the following inequality

$$f\left(x^{\lambda}y^{1-\lambda}\right) \le h(\lambda)f(x)g(x) + mh(1-\lambda)f(y)g(y),$$
(12)

where $\lambda \in [0, 1]$, $x, y \in I$.

Next, we give new definitions deducible from Definition 1.

- By setting m = 1, we will say f is quasi F (g, h)-convex function.
- By setting h(x) = x, we will say *f* is quasi F (g; m)-convex function.
- By setting g(x) = 1 = m, we will say *f* is quasi F h-convex function.
- By setting g(x) = 1, we will say *f* is quasi F (h m)-convex function.
- By setting g(x) = 1, h(x) = x, we will say f is quasi F m-convex function.
- By setting g(x) = 1, $h(x) = x^s$, we will say f is quasi F (s, m)-convex function.
- By setting g(x) = 1 = m, $h(x) = x^s$, we will say f is quasi F s-convex function.
- By setting g(x) = 1 = m, h(x) = 1, we will say f is quasi F P-convex function.
- By setting g(x) = 1, $h(x) = \frac{1}{x^s}$, we will say *f* is quasi Godunova Levin F (s, m)-convex function.
- By setting g(x) = 1 = m, $h(x) = \frac{1}{x}$, we will say *f* is quasi Godunova Levin *F*-convex function.
- By setting $g(x) = \exp(-\alpha x)$, we will say *f* is quasi exponentially F (h m)-convex function.
- By setting $g(x) = \exp(-\alpha x)$, $h(x) = x^s$, we will say *f* is quasi exponentially F (s m)-convex function.
- By setting $g(x) = \exp(-\alpha x)$, m = 1, we will say f is quasi exponentially F h-convex function.
- By setting $g(x) = \exp(-\alpha x)$, m = 1, $h(x) = \frac{1}{x}$, we will say f is quasi Godunova Levin type exponentially *F*-convex function.
- By setting $g(x) = \exp(-\alpha x)$, m = 1, h(x) = x, we will say *f* is quasi exponentially *F*-convex function.
- By setting g(x) = 1 = m, h(x) = x, we will say *f* is quasi *F*-convex function.

The forthcoming section contains the Hermite-Hadamard inequality and associated results, the estimations of integral mean of F - (h, g; m)-convex function.

3. Main Results

First, we state and prove the following Hermite-Hadamard type inequality for F - (h, g; m)-convex functions.

Theorem 2. Let $f : [a,b] \subset I \to \mathbb{R}$ be a quasi F - (h, g, m)-convex function. Then the following inequality holds:

$$f\left(F^{-1}\left(\frac{F(a)+F(b)}{2}\right)\right) \leq \frac{h\left(\frac{1}{2}\right)}{F(b)-F(a)} \int_{a}^{b} \left(f.g(z)+mf.g\left(\frac{z}{m}\right)\right) d(F(z))$$

$$\leq \frac{h\left(\frac{1}{2}\right)}{F(b)-F(a)} \left\{f.g(a) \int_{a}^{b} h\left(\frac{F(b)-F(z)}{F(b)-F(a)}\right) g(z) d(F(z))$$

$$+mf.g\left(\frac{b}{m}\right) \int_{a}^{b} h\left(\frac{F(z)-F(a)}{F(b)-F(a)}\right) g(z) d(F(z)) + m \int_{a}^{b} f.g\left(\frac{z}{m}\right) d(F(z)) \right\}.$$
(13)

Proof. By setting $\lambda = \frac{1}{2}$ and $y \to \frac{y}{m}$ in (9), we get

$$f\left(F^{-1}\left(\frac{F(x)+F(y)}{2}\right)\right) \le h\left(\frac{1}{2}\right)\left(f(x)g(x)+mf\left(\frac{y}{m}\right)g\left(\frac{y}{m}\right)\right).$$
(14)

Further, by setting $F(x) = \lambda F(a) + (1 - \lambda)F(b)$, $F(y) = \lambda F(b) + (1 - \lambda)F(a)$ $\lambda \in [0, 1]$, we find the following inequality:

$$f\left(F^{-1}\left(\frac{F(a)+F(b)}{2}\right)\right) \le h\left(\frac{1}{2}\right) \left[f\left(F^{-1}\left(\lambda F(a)+(1-\lambda)F(b)\right)\right)g\left(F^{-1}\left(\lambda F(a)+(1-\lambda)F(b)\right)\right) + mf\left(\frac{F^{-1}\left(\lambda F(b)+(1-\lambda)F(a)\right)}{m}\right)g\left(\frac{F^{-1}\left(\lambda F(b)+(1-\lambda)F(a)\right)}{m}\right)\right].$$
(15)

After integrating over [0, 1], we get

$$\int_{0}^{1} f\left(F^{-1}\left(\lambda F(a) + (1-\lambda)F(b)\right)\right) g\left(F^{-1}\left(\lambda F(a) + (1-\lambda)F(b)\right)\right) d\lambda = \frac{1}{F(b) - F(a)} \int_{a}^{b} (f \cdot g)(z)F'(z)dz,$$
(16)

where we have used the substitution $F(z) = \lambda F(a) + (1 - \lambda)F(b)$. Also, after integration we have

$$\int_{0}^{1} f\left(\frac{F^{-1}\left(\lambda F(b) + (1-\lambda)F(a)\right)}{m}\right) g\left(\frac{F^{-1}\left(\lambda F(b) + (1-\lambda)F(a)\right)}{m}\right) d\lambda$$

$$= \frac{1}{F(b) - F(a)} \int_{a}^{b} (f \cdot g)\left(\frac{z}{m}\right) F'(z) dz,$$
(17)

where we have used the substitution $F(z) = \lambda F(b) + (1 - \lambda)F(a)$. By integrating the inequality (15) over [0, 1] and putting values of integrals from (16) and (17), the first inequality in (8) is achieved. For getting the second inequality we proceed as follows: By definition we have

$$f(F^{-1}(\lambda F(a) + (1-\lambda)F(b)) \le h(\lambda)f(a)g(a) + mh(1-\lambda)f\left(\frac{b}{m}\right)g\left(\frac{b}{m}\right).$$
(18)

Multiplying the above inequality (18) by $g(F^{-1}(\lambda F(a) + (1 - \lambda)F(b)))$ and integrating over [0, 1], we get

$$\frac{1}{F(b) - F(a)} \int_{a}^{b} (f \cdot g)(z) F'(z) dz \leq \frac{f \cdot g(a)}{F(b) - F(a)} \int_{a}^{b} h\left(\frac{F(b) - F(z)}{F(b) - F(a)}\right) g(z) d(F(z)) + \frac{mf \cdot g\left(\frac{b}{m}\right)}{F(b) - F(a)} \int_{a}^{b} h\left(\frac{F(z) - F(a)}{F(b) - F(a)}\right) g(z) d(F(z)),$$
(19)

here we have used the substitution $F(z) = \lambda F(b) + (1 - \lambda)F(a)$. By using (19), one can get the second inequality in (8). \Box

Some of the results associated with the inequality (8) are given in the following corollaries and remarks.

Remark 2. Setting of g(x) = 1 gives [9, Corollary 3.1], and with $\int_0^1 h(\lambda) d\lambda \le 1$, [10, Theorem 9] is obtained. By setting F(x) = x, g(x) = 1 = m, the Hermite-Hadamard inequality for *h*-convex functions given in [11] is obtained. By setting F(x) = x, g(x) = 1, h(x) = x, the Hermite-Hadamard inequality for *m*-convex functions given in [12] is obtained. For F(x) = x, h(x) = x, Theorem 2 reduces to [9, Corollary 3.4].

Corollary 3. Under the assumptions of Theorem 2, if we select F(x) = x, then the inequality (8) can be obtained.

Proof. By setting F(x) = x in (13), the following inequality is yielded:

$$\begin{split} f\left(\frac{a+b}{2}\right) &\leq \frac{h\left(\frac{1}{2}\right)}{b-a} \int_{a}^{b} \left(f \cdot g(z) + mf \cdot g\left(\frac{z}{m}\right)\right) dz \leq \frac{h\left(\frac{1}{2}\right)}{b-a} \left\{f \cdot g(a) \int_{a}^{b} h\left(\frac{b-z}{b-a}\right) g(z) dz + mf \cdot g\left(\frac{b}{m}\right) \int_{a}^{b} h\left(\frac{z-a}{b-a}\right) g(z) dz + m\int_{a}^{b} f \cdot g\left(\frac{z}{m}\right) dz \right\}. \end{split}$$

The integral in last term of the right hand side of last inequality in (??) can be estimated as follows: By using F(x) = x in (9), we get that f is (h, g; m)-convex function which yielded th forthcoming inequality

$$f\left(\lambda\frac{a}{m} + (1-\lambda)\frac{b}{m}\right) \le h(\lambda)f.g\left(\frac{a}{m}\right) + mh(1-\lambda)f.g\left(\frac{b}{m^2}\right).$$
(20)

By multiplying with $g\left(\lambda \frac{a}{m} + (1-\lambda)\frac{b}{m}\right)$ on both sides of the above inequality and integrating over [0,1], we get

$$\int_{a}^{b} f \cdot g\left(\frac{z}{m}\right) dz \le f \cdot g\left(\frac{a}{m}\right) \int_{a}^{b} h\left(\frac{b-z}{b-a}\right) g\left(\frac{z}{m}\right) dz + mf \cdot g\left(\frac{b}{m^{2}}\right) \int_{a}^{b} h\left(\frac{z-a}{b-a}\right) g\left(\frac{z}{m}\right) dz.$$

By using (??) in (??), the required inequality (8) is achieved. \Box

Remark 3. By setting F(x) = x, g(x) = 1 in (13), we get [9, Corollary 3.1].

The Hermite-Hadamard inequality proved in Theorem 2 can be obtained for all new and classical definitions given in Section 2. Here we give some consequences for new definitions.

. .

Theorem 4. The following inequality holds for quasi F - (h - m)-convex functions

$$f\left(F^{-1}\left(\frac{F(a)+F(b)}{2}\right)\right) \leq \frac{h\left(\frac{1}{2}\right)}{F(b)-F(a)} \int_{a}^{b} \left(f(z)+mf\left(\frac{z}{m}\right)\right) d(F(z))$$

$$\leq \frac{h\left(\frac{1}{2}\right)}{F(b)-F(a)} \left\{f(a) \int_{a}^{b} h\left(\frac{F(b)-F(z)}{F(b)-F(a)}\right) d(F(z))$$

$$+mf\left(\frac{b}{m}\right) \int_{a}^{b} h\left(\frac{F(z)-F(a)}{F(b)-F(a)}\right) d(F(z)) + m \int_{a}^{b} f\left(\frac{z}{m}\right) d(F(z)) \right\}.$$
(21)

Proof. The required inequality can be obtained by setting g(x) = 1 in (13). \Box

Theorem 5. The following inequality holds for (h, g; m) - p-convex functions

$$f\left(\left(\frac{a^{p}+b^{p}}{2}\right)\right)^{\frac{1}{p}} \leq \frac{ph\left(\frac{1}{2}\right)}{b^{p}-a^{p}} \int_{a}^{b} \left(f \cdot g(z) + mf \cdot g\left(\frac{z}{m}\right)\right) z^{p-1} dz$$

$$\leq \frac{ph\left(\frac{1}{2}\right)}{b^{p}-a^{p}} \left\{f \cdot g(a) \int_{a}^{b} h\left(\frac{b^{p}-z^{p}}{b^{p}-a^{p}}\right) g(z) z^{p-1} dz$$

$$+ mf \cdot g\left(\frac{b}{m}\right) \int_{a}^{b} h\left(\frac{z^{p}-a^{p}}{b^{p}-a^{p}}\right) g(z) z^{p-1} dz + mf \cdot g\left(\frac{a}{m}\right) \int_{a}^{b} h\left(\frac{b^{p}-z^{p}}{b^{p}-a^{p}}\right) g\left(\frac{z}{m}\right) z^{p-1} dz$$

$$+ m^{2} f \cdot g\left(\frac{b}{m^{2}}\right) \int_{a}^{b} h\left(\frac{z^{p}-a^{p}}{b^{p}-a^{p}}\right) g\left(\frac{z}{m}\right) z^{p-1} dz$$

$$+ m^{2} f \cdot g\left(\frac{b}{m^{2}}\right) \int_{a}^{b} h\left(\frac{z^{p}-a^{p}}{b^{p}-a^{p}}\right) g\left(\frac{z}{m}\right) z^{p-1} dz$$

$$(22)$$

Proof. Let $F(x) = x^p$, $p \neq 0$. Then $F'(x) = px^{p-1}$, and by considering these settings in (13), one can have

$$f\left(\left(\frac{a^{p}+b^{p}}{2}\right)^{\frac{1}{p}}\right) \leq \frac{ph\left(\frac{1}{2}\right)}{b^{p}-a^{p}} \int_{a}^{b} \left(f(g(z))+mf\left(g\left(\frac{z}{m}\right)\right)\right) z^{p-1} dz$$

$$\leq \frac{ph\left(\frac{1}{2}\right)}{b^{p}-a^{p}} \left\{f(g(a))\int_{a}^{b}h\left(\frac{b^{p}-z^{p}}{b^{p}-a^{p}}\right)g(z)z^{p-1} dz+mf\left(g\left(\frac{b}{m}\right)\right)\int_{a}^{b}h\left(\frac{z^{p}-a^{p}}{b^{p}-a^{p}}\right)g(z)z^{p-1} dz$$

$$+m\int_{a}^{b}f\left(g\left(\frac{z}{m}\right)\right)z^{p-1} dz\right\}.$$
(23)

By definition we have

$$f\left(\frac{(\lambda a^p + (1-\lambda)b^p)^{\frac{1}{p}}}{m}\right) = f\left(\left(\lambda\left(\frac{a}{m}\right)^p + (1-\lambda)\left(\frac{b}{m}\right)^p\right)^{\frac{1}{p}}\right) \le h(\lambda)f\left(g\left(\frac{a}{m}\right)\right) + h(1-\lambda)f\left(g\left(\frac{b}{m}\right)\right).$$

Multiplying both sides of (??) by $g\left(\frac{(\lambda a^p + (1-\lambda)b^p)^{\frac{1}{p}}}{m}\right)$ and integrating over [0,1], we have

$$\int_{0}^{1} f \cdot g\left(\frac{(\lambda a^{p} + (1-\lambda)b^{p})^{\frac{1}{p}}}{m}\right) d\lambda$$

$$\leq \int_{0}^{1} \left(h(\lambda)f \cdot g\left(\frac{a}{m}\right) + mh(1-\lambda)f \cdot g\left(\frac{b}{m^{2}}\right)\right) g\left(\frac{(\lambda a^{p} + (1-\lambda)b^{p})^{\frac{1}{p}}}{m}\right) d\lambda$$

The substitution $(\lambda a^p + (1 - \lambda)b^p)^{\frac{1}{p}} = z$ gives the following integral inequality:

$$\int_{a}^{b} f \cdot g\left(\frac{z}{m}\right) z^{p-1} dz \leq f \cdot g\left(\frac{a}{m}\right) \int_{a}^{b} h\left(\frac{b^{p}-z^{p}}{b^{p}-a^{p}}\right) g\left(\frac{z}{m}\right) z^{p-1} dz + mf \cdot g\left(\frac{b}{m^{2}}\right) \int_{a}^{b} h\left(\frac{z^{p}-a^{p}}{b^{p}-a^{p}}\right) g\left(\frac{z}{m}\right) z^{p-1} dz.$$

By using the estimation of above integral in (23), the required inequality is obtained. \Box

Remark 4. From the above inequality (22), one can obtain results for *p*-convex, (p,h)-convex, (p,h-m)-convex functions by setting g(x) = 1. On the other hand by setting $g(x) = \exp(-\alpha x)$ results for several kinds of exponentially convexities can be obtained. We leave them for readers.

It is interesting to note that the class of for m = 1, the class of quasi F - (g, h)-convex functions is obtained which is closely connected to the class of (g, h)-convex functions as follows: Let f is quasi F - (g, h)-convex function. Then we have the following inequality

$$f(F^{-1}(\lambda F(x) + (1-\lambda)F(y)) \le h(\lambda)f(x)g(x) + h(1-\lambda)f(y)g(y).$$
(24)

If we set X = F(x) and Y = F(y) in the inequality (24), then we get

$$f(F^{-1}(\lambda X + (1-\lambda)Y)) \le h(\lambda)f(F^{-1}(X))g(F^{-1}(X)) + h(1-\lambda)f(F^{-1}(Y))g(F^{-1}(Y)).$$
(25)

Further, by putting $U = f(F^{-1})$ and $V = g(F^{-1})$ in (25), we get

$$U(\lambda X + (1 - \lambda)Y) \le h(\lambda)U(X)V(X) + h(1 - \lambda)U(Y)V(Y)$$

The above inequality shows that *U* is (V, h)-convex function. Next, we intend to give the cases when m = 1, in inequalities of aforementioned theorems.

Theorem 6. The following inequality holds for quasi F - (g, h)-convex functions:

$$\begin{split} &f\left(F^{-1}\left(\frac{F(a)+F(b)}{2}\right)\right) \leq \frac{2h\left(\frac{1}{2}\right)}{F(b)-F(a)}\int_{a}^{b}f \cdot g\left(z\right)d(F(z))\\ &\leq \frac{2h\left(\frac{1}{2}\right)}{F(b)-F(a)}\left\{f \cdot g(a)\int_{a}^{b}h\left(\frac{F(b)-F(z)}{F(b)-F(a)}\right)g(z)d(F(z))\right.\\ &+ f \cdot g\left(b\right)\int_{a}^{b}h\left(\frac{F(z)-F(a)}{F(b)-F(a)}\right)g(z)d(F(z))\right\}. \end{split}$$

Proof. By setting m = 1 in (13), the following result holds:

$$f\left(F^{-1}\left(\frac{F(a) + F(b)}{2}\right)\right) \leq \frac{2h\left(\frac{1}{2}\right)}{F(b) - F(a)} \int_{a}^{b} f.g(z) d(F(z))$$

$$\leq \frac{h\left(\frac{1}{2}\right)}{F(b) - F(a)} \left\{ f.g(a) \int_{a}^{b} h\left(\frac{F(b) - F(z)}{F(b) - F(a)}\right) g(z) d(F(z)) + f.g(b) \int_{a}^{b} h\left(\frac{F(z) - F(a)}{F(b) - F(a)}\right) g(z) d(F(z)) + \int_{a}^{b} f.g(z) d(F(z)) \right\}.$$
(26)

By using the estimation of integral $\int_{a}^{b} f g(z) d(F(z))$ from (19) for m = 1, we get the required inequality. \Box

Remark 5. If F(t) = t, g(x) = 1 in (26), we get the Hermite-Hadamard inequality proved in [11]. The setting F(t) = t, h(x) = x and $g(x) = e^{-\alpha x}$ in (26), gives [9, Corollary 3.6].

In the following we give the Hermite-Hadamard inequality for geometric (h, g, m)-convex function.

Theorem 7. Let $f : [a,b] \subset I \to \mathbb{R}$ be a quasi F - (h, g, m)-convex function. Then the following inequality holds:

$$\begin{split} f\left(\sqrt{ab}\right) &\leq \frac{h\left(\frac{1}{2}\right)}{\log\left(\frac{b}{a}\right)} \int_{a}^{b} \frac{f \cdot g(z) + mf \cdot g\left(\frac{z}{m}\right)}{z} dz \leq \frac{h\left(\frac{1}{2}\right)}{\log\left(\frac{b}{a}\right)} \left\{ f \cdot g(a) \int_{a}^{b} h\left(\frac{\log\left(\frac{b}{a}\right)}{\log\left(\frac{b}{a}\right)}\right) \frac{g(z)}{z} dz \\ &+ mf \cdot g\left(\frac{b}{m}\right) \int_{a}^{b} h\left(\frac{\log\left(\frac{z}{a}\right)}{\log\left(\frac{b}{a}\right)}\right) \frac{g(z)}{z} dz + m \int_{a}^{b} \frac{1}{z} f \cdot g\left(\frac{z}{m}\right) dz \right\}. \end{split}$$

Proof. By setting $F(x) = \log x$ in (13), the inequality (??) can be obtained. \Box

Theorem 8. Let $f : [a, b] \subset I \to \mathbb{R}$ be a quasi F - (h, g, m)-convex function. Then the following inequality holds:

$$\frac{1}{F(b) - F(a)} \int_{a}^{b} f(z)d(F(z)) \le \min\left\{f.g(a) + mf.g\left(\frac{b}{m}\right), f.g(b) + mf.g\left(\frac{a}{m}\right)\right\} \cdot \int_{0}^{1} h(z)dz.$$
(27)

Proof. By definition we have the inequalities

$$f(F^{-1}(\lambda F(a) + (1-\lambda)F(b)) \le h(\lambda)f(a)g(a) + mh(1-\lambda)f\left(\frac{b}{m}\right)g\left(\frac{b}{m}\right),$$
(28)

and

$$f(F^{-1}(\lambda F(b) + (1-\lambda)F(a)) \le h(\lambda)f(b)g(b) + mh(1-\lambda)f\left(\frac{a}{m}\right)g\left(\frac{a}{m}\right).$$
(29)

On integrating the above two inequalities over [0, 1] with suitable substitutions on the left hand side, we have the following integral inequalities:

$$\frac{1}{F(b) - F(a)} \int_{a}^{b} f(z)d(F(z)) \le f \cdot g(a) \int_{0}^{1} h(\lambda)d\lambda + mf \cdot g\left(\frac{b}{m}\right) \int_{0}^{1} h(1-\lambda)d\lambda, \tag{30}$$

and

$$\frac{1}{F(b) - F(a)} \int_{a}^{b} f(z)d(F(z)) \leq f g(b) \int_{0}^{1} h(\lambda)d\lambda + mf g\left(\frac{a}{m}\right) \int_{0}^{1} h(1-\lambda)d\lambda.$$
(31)

The required inequality (13) is trivial after keeping in view the equation $\int_0^1 h(\lambda) d\lambda = \int_0^1 h(1-\lambda) d\lambda$. \Box

Remark 6. By setting F(x) = x in (27), we get [9, Theorem 3.3].

Theorem 9. Let $f : [a,b] \subset I \to \mathbb{R}$ be a quasi F - (h, g, m)-convex function. Then the following inequality holds:

$$\frac{1}{F(mb) - F(a)} \int_{a}^{mb} f(z)d(F(z)) + \frac{1}{F(b) - F(ma)} \int_{ma}^{b} f(z)d(F(z))$$

$$\leq \min\left\{f.g(a) + mf.g\left(\frac{b}{m}\right), f.g(b) + mf.g\left(\frac{a}{m}\right)\right\} \cdot \int_{0}^{1} h(z)dz.$$
(32)

Proof. By definition we have the inequalities

$$\begin{split} f(F^{-1}(\lambda F(a) + (1-\lambda)F(mb)) &\leq h(\lambda)f.g(a) + mh(1-\lambda)f.g(b), \\ f(F^{-1}(\lambda F(mb) + (1-\lambda)F(a)) &\leq h(1-\lambda)f.g(a) + mh(\lambda)f.g(b), \\ f(F^{-1}(\lambda F(b) + (1-\lambda)F(ma)) &\leq h(\lambda)f.g(b) + mh(1-\lambda)f.g(a), \\ f(F^{-1}(\lambda F(ma) + (1-\lambda)F(b)) &\leq h(1-\lambda)f.g(b) + mh(\lambda)f.g(a), \end{split}$$

On adding the above inequalities we get

$$f(F^{-1}(\lambda F(a) + (1 - \lambda)F(mb)) + f(F^{-1}(\lambda F(mb) + (1 - \lambda)F(a))$$

$$+ f(F^{-1}(\lambda F(b) + (1 - \lambda)F(ma)) + f(F^{-1}(\lambda F(ma) + (1 - \lambda)F(b))$$

$$\leq (m + 1)(f \cdot g(a) + f \cdot g(b)) \int_{0}^{1} (h(\lambda) + h(1 - \lambda))d\lambda,$$
(33)

Integrating over [0, 1] on the both side, we have the following integral inequality:

$$\int_{0}^{1} (f(F^{-1}(\lambda F(a) + (1 - \lambda)F(mb))) + f(F^{-1}(\lambda F(mb) + (1 - \lambda)F(a))))d\lambda \qquad (34)$$

$$+ \int_{0}^{1} (f(F^{-1}(\lambda F(b) + (1 - \lambda)F(ma))) + f(F^{-1}(\lambda F(ma) + (1 - \lambda)F(b))))d\lambda \\
\leq (m + 1)(f.g(a) + f.g(b)) \int_{0}^{1} (h(\lambda) + h(1 - \lambda))d\lambda.$$

It can be verified that

$$\int_{0}^{1} f(F^{-1}(\lambda F(a) + (1 - \lambda)F(mb)))d\lambda = \int_{0}^{1} f(F^{-1}(\lambda F(mb) + (1 - \lambda)F(a)))d\lambda$$
(35)
= $\frac{1}{F(mb) - F(a)} \int_{a}^{mb} f(z)d(F(z))$

$$\int_{0}^{1} f(F^{-1}(\lambda F(b) + (1 - \lambda)F(ma))d\lambda = \int_{0}^{1} f(F^{-1}(\lambda F(ma) + (1 - \lambda)F(b)))d\lambda$$
(36)
= $\frac{1}{F(b) - F(ma)} \int_{ma}^{b} f(z)d(F(z)).$

The required inequality (27) can be obtained by using equations $\int_0^1 h(\lambda) d\lambda = \int_0^1 h(1-\lambda) d\lambda$, (35) and (36) in (34).

Remark 7. By setting F(x) = x in (32), we get [9, Theorem 3.4].

Author Contributions: All authors contributed equally in this article.

Conflicts of Interest: The authors declare no conflict of interest.

References

- [1] Pečarić, J. E., Proschan, F., & Tong, Y. L. (1992). *Convex Functions, Partial Orderings and Statistical Applications*. Boston: Academic Press.
- [2] Roberts, A. W., & Varberg, D. E. (1973). Convex Functions. New York: Academic Press.
- [3] Niculescu, C. P., & Persson, L. E. (2006). Convex Functions and Their Applications: A Contemporary Approach. New York: Springer-Verlag.
- [4] Hadamard, J. (1893). Étude sur les propriétés des fonctions entières et en particulier d'une fonction considérée par Riemann. *Journal de Mathématiques Pures et Appliquées*, 58(4), 171-215.
- [5] Hermite, C. (1983). Sur deux limites d'une intégrale défine. Mathesis, 3(1), 1-82.
- [6] Toader, G. H. (1984). Some generalizations of the convexity. In Proceedings of the Colloquium on Approximation and Optimization, Cluj-Napoca (Romania), 329-338.
- [7] Andrić, M., & Pečarić, J. (2022). On (*h*, *g*; *m*)-convexity and the Hermite-Hadamard inequality. *Journal of Convex Analysis*, 29(1), 257-268.
- [8] Nonlaopon, K., Farid, G., Nosheen, A., Yussouf, M., & Bonyah, E. (2022). New generalized Riemann-Liouville fractional integral versions of Hadamard and Fejer-Hadamard inequalities. *Journal of Mathematics*, 2022, Article ID 8173785, 17 pages.
- [9] Andrić, M., Čuljak, V., Pečarić, D., Pečarić, J., & Perić, J. (2023). New Developments for Jensen and Lah-Ribarič Inequalities: New Trends in Convex Analysis. Zagreb: Element.
- [10] Özdemir, M. E., Akdemir, A. O., & Set, E. (2016). On (h m)-convexity and Hadamard-type inequalities. *Transylvanian Journal of Mathematics and Mechanics*, 8(1), 51-58.
- [11] Varošanec, S. (2007). On h-convexity. Journal of Mathematical Analysis and Applications, 326, 303-311.
- [12] Dragomir, S. S. (2002). On some new inequalities of Hermite-Hadamard type for *m*-convex functions. *Tamkang Journal* of *Mathematics*, 33(1), 45-56.



© 2024 by the authors; licensee PSRP, Lahore, Pakistan. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC-BY) license (http://creativecommons.org/licenses/by/4.0/).